Math Worksheets

xandy intercepts

’S\Find the x and y intercepts for the following equations.

1) 5x+3y =15

2)y = x +8
3) 4x =y + 16
H x+y=-2
5) 4x—-3y =7

6) 7y —5x+10=0
3 1 2

7) ;x+2y+§—0

8) 3x—21=0

9) 24 -4y =0

10) —2x — 6y +42 =12
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Answers of Worksheets

x—intercept and y—intercept

1) y — intercept =5 x — intercept = 3

2) y — intercept = 8 x — intercept = —8

3) y — intercept = —16 x — intercept = 4

4) y — intercept = —2 x — intercept = —2

5) y — intercept = _g x — intercept = 2

6) y — intercept = —g x — intercept = 2

7) y — intercept = —g X — intercept = —=

8) y — intercept = undefind x — intercept = 7 ’

9) y — intercept = 6 x — intercept = undefind
10) y — intercept =5 x — intercept = 15

https://www.mathnotion.com/



